Kahoot Questions:

1. The human genome is distributed over…
a. 23 Pairs of Chromosomes
b. 23 Chromosomes
c. 46 Pairs of Chromosomes
d. 44 Chromosomes
2. What is the charged molecule on DNA?
a. 5-Carbon Sugar
b. Phosphate Group
c. Adenine
d. Guanine
3. Which ones are purines?
a. Adenine and Guanine
b. Adenine and Thymine
c. Guanine and Cytosine
d. Cytosine and Thymine
4. T or F: Some DNA is found in the mitochondria.
a. True
b. False
5. Which molecule fills in the gaps that are left after DNA Replication?
a. Helicase
b. DNA Polymerase
c. DNA Ligase
d. Telomerase
6. How many letters long is a codon in translation?
a. 2 letters
b. 3 letters
c. 4 letters
d. 5 letters
7. T or F: In Gel Electrophoresis, DNA starts on the positive side.
a. True
b. False
8. T or F: The longer you run a gel the more the DNA pieces will separate.
a. True
b. False
9. T or F: When using a pipette push all the way down when getting the liquid.
a. True 
b. False
10. How many chromosomes does a bacteria have?
a. 1
b. 46
c. 12
d. 23
11.  When we design a plasmid we should make sure to have…
a. An antibiotic resistance gene
b. A glowing gene
c. A gene that makes insulin
d. A gene that will do your homework
12. When doing transformation, the restriction enzyme you chose should only cut in... 
a. One place on your plasmid
b. Two places on your plasmid
c. Three places on your plasmid
d. Zero places on your plasmid
13. When doing transformation, the restriction enzyme you chose should only cut in...
a. One place on your DNA
b. Two places on your DNA
c. Three places on your DNA
d. Zero places on your DNA
14. Which is not a step in bacterial transformation?
a. Heat shock
b. Adding Calcium Chloride
c. Luria broth bath
d. Adding DNA base pairs
15. Why is the main reason scientists streak bacteria?
a. To isolate colonies
b. To amplify the number of bacteria
c. To eat it
d. To create antibiotic resistance bacteria
16. PCR stands for...
a. Polymerase Chain Reaction
b. Polymerase Cuts Reaction
c. Polymerase Cartilage Reaction
d. Polymerase Cleavage Reaction
17. Which is not a step of PCR?
a. Denaturation
b. Annealing
c. Elongation
d. Restriction Enzyme Digest 
18. Taq Polymerase is used in PCR because...
a. It looks cool
b. It is faster than Human Polymerase
c. It can withstand high heat
d. It is smaller than Human Polymerase
19. T or F: When using restriction enzymes find one that makes blunt ends.
a. True
b. False 
20. T or F: Restriction Enzymes always cut along palindromes.
a. True
b. False
